

### **ABC Bid Data**

PITTSBURG 42850F NON-FEDERAL

**PROJECT**: PITTSBURG

STATE PROJECT NUMBER: 42850F

FED. PROJECT NUMBER: NON-FEDERAL DATE BIDS OPEN: March 28, 2024, 2:00

SCOPE OF WORK: Fuel system replacement at Pittsburg lower shed (PS101L)

COMPLETION DATE: November 15, 2024

LOCATION: Coos

Awarded To: STEPHENS-MARQUIS

ASSOCIATES

717 DANIEL WEBSTER HWY MERRIMACK, NH 03054

Amount: \$784,000.00 Certified by: WILLIAM.J.OLDENBURG

Award Date: Director of Project Development

### **Summary of Bidders**

Contractor	Bid Amount	Rank
STEPHENS-MARQUIS ASSOCIATES	\$784,000.00	Α
717 DANIEL WEBSTER HWY, MERRIMACK NH 03054		
SRS PETROLEUM SERVICES	\$919,200.00	В
700 W CENTER STREET, WEST BRIDGEWATER MA 02379		

### **ABC Bid Data**



PITTSBURG 42850F NON-FEDERAL

					F	PS&E STEPHENS-MARQUIS ASS 717 DANIEL WEBSTER MERRIMACK, NH 030		WEBSTER HWY	700 W CEI	LEUM SERVICES ITER STREET WATER, MA 02379
ı	Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

Totals:					\$653 681 00 \$784 000 00				
1010.15	FUEL ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1009.51	REMOVAL/STORAGE OF FUEL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1009.21	TREATMENT OR DISPOSAL OF CONTAMINATED GROUNDWATER (FRAC TANK)	\$	30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$7,500.00	\$7,500.00	\$2,400.00	\$2,400.00	\$2,800.00	\$2,800.00
670.171	FILE NOTICE OF INTENT - RGP	U	1.00	\$6,000.00	\$6,000.00	\$500.00	\$500.00	\$3,250.00	\$3,250.00
670.161	DISCHARGE PERMIT FOR TREATED GROUNDWATER	U	1.00	\$2,750.00	\$2,750.00	\$500.00	\$500.00	\$2,625.00	\$2,625.00
670.151	EXCAVATION LINER REMOVAL	U	1.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$1,100.00	\$1,100.00
670.141	CONCRETE TANK ANCHOR PAD REMOVAL	U	1.00	\$1,000.00	\$1,000.00	\$3,400.00	\$3,400.00	\$7,200.00	\$7,200.00
670.131	UST SYSTEM REMOVAL	U	1.00	\$35,000.00	\$35,000.00	\$11,500.00	\$11,500.00	\$27,000.00	\$27,000.00
670.111	UST SYSTEM INSTALLATION	U	1.00	\$456,500.00	\$456,500.00	\$617,064.00	\$617,064.00	\$706,743.10	\$706,743.10
628.2	SAWED BITUMINOUS PAVEMENT	LF	320.00	\$3.00	\$960.00	\$12.00	\$3,840.00	\$10.30	\$3,296.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	170.00	\$9.50	\$1,615.00	\$14.00	\$2,380.00	\$14.40	\$2,448.00
403.16	PAVEMENT JOINT ADHESIVE	LF	950.00	\$4.00	\$3,800.00	\$2.00	\$1,900.00	\$3.60	\$3,420.00
403.12	HBP-HAND METHOD	TON	10.00	\$330.00	\$3,300.00	\$360.00	\$3,600.00	\$288.00	\$2,880.00
403.11943	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	75.00	\$110.00	\$8,250.00	\$250.00	\$18,750.00	\$360.00	\$27,000.00
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	150.00	\$110.00	\$16,500.00	\$180.00	\$27,000.00	\$210.00	\$31,500.00
304.301	CRUSHED GRAVEL	CY	317.00	\$50.00	\$15,850.00	\$35.00	\$11,095.00	\$52.80	\$16,737.60
304.201	GRAVEL.	CY	137.00	\$38.00	\$5,206.00	\$33.00	\$4,521.00	\$54.40	\$7,452.80
214.	FINE GRADING	U	1.00	\$6,500.00	\$6,500.00	\$1,800.00	\$1,800.00	\$6,125.00	\$6,125.00
206.2	ROCK STRUCTURE EXCAVATION	CY	300.00	\$55.00	\$16,500.00	\$30.00	\$9,000.00	\$17.70	\$5,310.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	50.00	\$110.00	\$5,500.00	\$30.00	\$1,500.00	\$57.75	\$2,887.50
206.1	COMMON STRUCTURE EXCAVATION	CY	150.00	\$33.00	\$4,950.00	\$35.00	\$5,250.00	\$29.50	\$4,425.00

Totals: \$653,681.00 \$784,000.00 \$919,200.00

# New Hampshive Department of Transportation

## **ABC Bid Data**

PITTSBURG 42850F NON-FEDERAL

				PS&E		717 DANIEL	RQUIS ASSOCIATES WEBSTER HWY CK, NH 03054	700 W CE	LEUM SERVICES NTER STREET WATER, MA 02379
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
			Alt. Totals:						
					\$050 CO4 CO		\$704 000 00		\$040,000,00
		Totals:			\$653,681.00		\$784,000.00		\$919,200.00



# **PS&E Comparison**

PITTSBURG 42850F NON-FEDERAL

				A-Bide	der	PS8	ķΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
206.1	COMMON STRUCTURE EXCAVATION	CY	150.00	\$35.00	\$5,250.00	\$33.00	\$4,950.00	\$300.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	50.00	\$30.00	\$1,500.00	\$110.00	\$5,500.00	(\$4,000.00)
206.2	ROCK STRUCTURE EXCAVATION	CY	300.00	\$30.00	\$9,000.00	\$55.00	\$16,500.00	(\$7,500.00)
214.	FINE GRADING	U	1.00	\$1,800.00	\$1,800.00	\$6,500.00	\$6,500.00	(\$4,700.00)
304.201	GRAVEL	CY	137.00	\$33.00	\$4,521.00	\$38.00	\$5,206.00	(\$685.00)
304.301	CRUSHED GRAVEL	CY	317.00	\$35.00	\$11,095.00	\$50.00	\$15,850.00	(\$4,755.00)
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	150.00	\$180.00	\$27,000.00	\$110.00	\$16,500.00	\$10,500.00
403.11943	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	75.00	\$250.00	\$18,750.00	\$110.00	\$8,250.00	\$10,500.00
403.12	HBP-HAND METHOD	TON	10.00	\$360.00	\$3,600.00	\$330.00	\$3,300.00	\$300.00
403.16	PAVEMENT JOINT ADHESIVE	LF	950.00	\$2.00	\$1,900.00	\$4.00	\$3,800.00	(\$1,900.00)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	170.00	\$14.00	\$2,380.00	\$9.50	\$1,615.00	\$765.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	320.00	\$12.00	\$3,840.00	\$3.00	\$960.00	\$2,880.00
670.111	UST SYSTEM INSTALLATION	U	1.00	\$617,064.00	\$617,064.00	\$456,500.00	\$456,500.00	\$160,564.00
670.131	UST SYSTEM REMOVAL	U	1.00	\$11,500.00	\$11,500.00	\$35,000.00	\$35,000.00	(\$23,500.00)

Wednesday, April 3, 2024 Page 4 of 5



# **PS&E Comparison**

PITTSBURG 42850F NON-FEDERAL

		1		A-Bidder		PS8		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
670.141	CONCRETE TANK ANCHOR PAD REMOVAL	U	1.00	\$3,400.00	\$3,400.00	\$1,000.00	\$1,000.00	\$2,400.00
670.151	EXCAVATION LINER REMOVAL	U	1.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$2,000.00
670.161	DISCHARGE PERMIT FOR TREATED GROUNDWATER	U	1.00	\$500.00	\$500.00	\$2,750.00	\$2,750.00	(\$2,250.00)
670.171	FILE NOTICE OF INTENT - RGP	U	1.00	\$500.00	\$500.00	\$6,000.00	\$6,000.00	(\$5,500.00)
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$2,400.00	\$2,400.00	\$7,500.00	\$7,500.00	(\$5,100.00)
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1009.21	TREATMENT OR DISPOSAL OF CONTAMINATED GROUNDWATER (FRAC TANK)	\$	30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$0.00
1009.51	REMOVAL/STORAGE OF FUEL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00

**Total:** \$784,000.00 \$653,681.00 \$130,319.00

Wednesday, April 3, 2024 Page 5 of 5